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ONZ? HE3 BSIBAAEY 2=
123,223,008 * 14! 123,223
= 49,289
2 73,934
HHAALY FH 27 295,859 113,466 182,393
201 LByl 32,542 112,066 A79,524
01 AL elt] 1,080 1,200 A120
SIEITER=11T) 1,080
oRolpIENZI| BN ¥ EH 7Y
270,000 * 4TH 1,080




S KX 2 D
HH: I8 2E
Sel BHYD 2

M -3 - SHA(SAH) - MEAY -

el

22
J2

20
B
2

02 2224l 31,462 110,866 NAT79,404
O[AM&EEHIRXIH 31,462
O2ED|BIAIAE RHIB2
27,000,000 = {4l 27,000
ORQoIALUZ)| SABL
55,770,000 * 8% 4,462
202 OfH] 1,260 1,400 A 140
01 2oy 1,260 1,400 A 140
OZEJ|BAIAE 22X 18
70,0002 * 302! * 63 1,260
403 XXISHER=201E 62,057 0 62,057
02 ZIIZSOICHEHHEE AFI I 62,057 0 62,057
OZEI|BAIAE X 22
567,566,0002 * 7% 39,730
OANZHEZSEAALY SAES
318,949,900 * 7% 22,327
405 KHAHE SH 200,000 0 200,000
01 MMLSEFS 200,000 0 200,000
OSeegd A|AE = 200,000,0008 * 14! 200,000
MM 22 34,756 88,617 A53,861
201 LEt=2AH| 34,756 38,617 A3,861
02 222%H| 34,756 38,617 A3,861
O[AMEFEHIRX 34,756
OFKZEM L 22 AlIAH XSS 31,129
OATESY 184,347,480 * % 16,592
o03tEYN 201,900,000 * 7.2% 14,537
OXNZLEUIAALY 2T B2
40,300,000 * 9% 3,627
SIZEX|22IAA AL 29 15,360 0 15,360
201 LEH2HH| 15,360 0 15,360
02 222ZH| 15,360 0 15,360
OSIZEXZZIAIAE SXB%
192,000,000 * 8% 15,360
HALEH 22 22 215,537 261,077 A45,540
201 LEt2HH| 93,137 79,077 14,060
01 AFRZt2lH] 51,465 47,405 4,060
Ofgetz=2H|] 51,465
OBXIIAMHM 2 1,000 = 200K 200
OXA 2HEH 2U(0IRAIEE)
15,0002 * 10094 1,500
oBlECIAR 120,000 * 274 3,240
OE0H0IS4! HZ2e 40,0002 * 9074 3,600




S REPAPN =SSN,
M B2l 2E
Pl ISR 29 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OlpE=JI 100,000& = 1094 1,000
o#iItE 12,0002 * 107H 120
OHXNMAEAZLY O 5,000& * 205 100
onl=Zc 40,0003 * 2074 800
O I+ (& = 300W) 38,0002 * 74 266
OBl A2Z24E2E 78 324,000 * 1004 3,240
OZLIE 2 ZIEl A0S (15M)
30,000& * 9H 270
og& s/W+g 25,019
0 L E &FCS3 695,200 = 204 13,904
o MS2 11l 22007 222,300& = 5094 11,115
oAl S/W+E 17,300& * 7004 12,110
02 33234l 41,672 31,672 10,000
O[A &€& HI=Xdl] 41,672
Od&EH RAE
1,111,100 * 720CH * 5% 40,000
ORARXNE=s AIAE 16,720,000 * 10% 1,672
405 AHaHH S 122,400 142,000 A 19,600
01 ML ESF=H 122,400 142,000 219,600
OdatEdl 7 122,400
OB Rt 1,000,000& = 63CH 63,000
OLCDELIH 300,000& = 4504 13,500
OoxZgH 900,000& = 45CH 40,500
OLES % Et=3(PDA) 1,800,000 = 3CH 5,400
St 29 94,594 24,616 69,978
201 2Bt 17,594 9,616 7,978
01 AtS2t2iHl 16,320 5,200 11,120
Olget=2Hl] 14,520
oHgHOoIZ 2¢ 63,0002 * 407K 2,520
OMHE stEC0IAZ & H22 7L
3,000,000& = 4CH 12,000
O =] 1,800
Od¢ dF W=Hl  450,000& * 492! * 13| 1,800
02 33234l 1,274 4,416 N3,142
OlA &&= Xdl] 1,274
ogzgsll SN2+ 17,602,500& * 7.2% 1,274
405 XtobE SHI 77,000 0 77,000
01 MR ESF=H 77,000 0 77,000
Osgzlzel Alag 25
77,000,000& * 14 77,000
AN EE 29 118,874 146,456 N27,582
= 13,200




SN RIS E D
=R R EPIITIEE

=

Crel: X BE e (ol @ e
I:I}\_I X ZH C|—O|(§I ];”) }\.“cl}\I,O-I A2 AFOH I|_-|L|;=|_l‘:_ =2}
. T ° - = (L] 0:”{:'_% S o
= 19,800
i 85,874
FE30te =221 GIDNE= P 61,890 52,800 9,090
2 13,200
& 19,800
= 28,890
307 gI2told 61,890 52,800 9,090
= 13,200
= 19,800
= 28,890
02 gltAAE 61,890 52,800 9,090
OZZOgaeit sd XA (4H0t2)
61,889, 120& » 14 61,890
= 13,200
= 19,800
= 28,890
SHOIXI 2el 33,354 59,836 N26,482
201 LetHH| 33,354 9,836 23,518
02 =234l 33,354 9,836 23,518
OEHOIX dgels 0182 49,5004 * 12& 594
O=ZHO0IX e olgz 70,000& * 13 70
OEHOIX RANE= 178,500,000& = 10.8% 19,278
OEEot ANAE RXES 13,412
ot 13,440,000& * 8% 1,076
O IPS 490,000& * 12& 5,880
OMNHE 100,000& * 123 1,200
oA X AIAE 185,000& = 123 2,220
odest 253,000& * 12& 3,036
d8stus ¥ F20EANE 25 7,320 16,620 A9,300
201 LBt 3| 7,320 15,520 A 8,200
01 AFR 22| 7,320 15,520 28,200
Olget==&Hl] 7,320
o= FEJuE 2AM =C
30,0003 * 7Al2+ = 223] 4,620
OFEBHDS (DAY, SYM)DASL
15,000& * 202! * 9 2,700
dE302 2¢Y 16,310 17,200 A 890
201 LBt A 3,510 3,950 A 440
01 AtE222|Hl 3,150 3,500 A 350
Ol 3,150
Os2E2ER L HM&tE MA
9,000& * 20001 = 1OHOFS 1,800
OF3ESW=E WM 7
13,5003 * 25@ = 4J40tS 1,350




SN

PAPNE=SS T,

Mo HEI|g A
ool X% HE 2y (Etel: &8
BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
03 ALY 360 450 A90
OFEslols EE8AF (T 2
3,600 * 2500 = 4JH0t=2 360
301 LEtB A= 3,800 4,250 N450
10 AR HIEAZ 3,800 4,250 A450
OXNEX ¥ T2 )& A X s A
50,000& = 5921 % 23| * 4402 2,000
O2gd Hd&X HXIordy 90,0008 = 202l 1,800
307 2I2t0| ™ 9,000 9,000 0
02 QB AEXR 8,000 8,000 0
OX XA el &byl XI&
4,000& + 5004 At + 4102 8,000
04 SI2tSHALE T 1,000 1,000 0
OBEHA LEAIA WAL
50,000& * 5& = 4J40t2 1,000
HE2AHH| (NXIZE ) 95,738 107,755 212,017
ol 2AH| 3,780 4,200 N420
2Mde olE2dH 3,780 4,200 AN420
203 PR =& 3,780 4,200 AN420
04 2PEA2IYEF | 3,780 4,200 N420
OMXgE YN SN2E SRFEH|
3,780,000& * 14 3,780
Jl=2Z 4l 91,958 103,555 A 11,597
SEBEEII23H| 38,835 45,550 N6,715
201 dEt24| 24,660 29,800 5,140
01 AtR22ldl 19,980 22,200 N2,220
ORNZZE SHH & 16,200,000& * 14 16,200
Ol=&tl] 3,780
ORANE2ZE SHH & 3,780,000& = 14 3,780
02 S=2494| 4,680 7,600 A2,920
O[22222HAll 1,080
OgYRFA N3 Y R2ERZ
90,000& = 12& 1,080
O[ANEEHIKXHI] 3,600
039 YaEH Sl
3,600,000& * 14 3,600
202 04| 14,175 15,750 A 1,575
01 =2 14,175 15,750 AN 1,575
EA2E SHAH A 14,175,000& * 14 14,175
nElAgYI|=38 22,090 23,544 A 1,454
201 et H| 11,317 11,574 VANZYS




S XA

Mz HNSHHH| (KRS D)
>
o

= Ié & CEREED
A -3 -H2A(SH) - HEAMY - BES O AF K glggfg Hos
01 AFR22lH| 10,660 10,844 N84
Olget=gHl] 6,813
ORNEE SUAH 5,913,000& = 14 5,913
o&oloatdiol EMEX & ARE 7¢
90,000& * 2& * 53| 900
Ol=gtl] 3,847
ORN2E SUAH 3,847,000& = 14 3,847
02 22234l 657 730 AT3
Ol2=2Z LA 657
OYRFI ELEZ 7302 * 9000H 657
202 (4 H| 10,773 11,970 AT1,197
01 =W 10,773 11,970 A1,197
ORN2Z ZHUN & 10,773,000& * 14! 10,773
sSHEHEII=2ZH 13,986 15,750 AN1,764
201 LBt A 7,560 8,610 A 1,050
01 AtE222|H] 7,560 8,610 A 1,050
Olger==&Hl] 3,780
ORNEZE SUHA 3,780,000& » 14 3,780
Ol=&tl] 3,780
OFN2E SHUAL 3,780,000 » 14 3,780
202 O4Hl 6,426 7,140 AT14
01 =0yl 6,426 7,140 NT14
PHN2ISUN L 6,426,0008 * 14 6,426
AT 23| 17,047 18,711 A1,664
201 LBt 9,298 10,101 A 803
01 AR 22| 9,298 10,101 A803
OlgetgHl] 4,649
ORN2IEXNAY 4,649,000& = 14l 4,649
Ol=&tl] 4,649
ORNSISHN & 4,649,000& * 14 4,649
202 O4Hl 7,749 8,610 A B61
01 =Yl 7,749 8,610 A 861
ORN2IEUAHL 7,749,000& = 14 7,749
HEES (XL ) 845,000 895,000 250,000
LHEHCHXIE 845,000 895,000 A50,000
oIsLd2elIgXE 845,000 895,000 A50,000
02 JI3dES 845,000 895,000 250,000
01 JI2&&E3 845,000 895,000 250,000




_ _ _ Muo
CHE L HR(BA) - MBAY - BES Aboy i
SEREEETIE
5,000,002 * 583 * 122 300,000
OYSsNSHSEILS
50,000,008 * 3743t 150,000
Oauly I3 160,000
04l 5% 3,000,0008 * 329! 96,000
0%l 10% 2,000,0008 * 329! 64,000
OO DAL XIS 47,000,0008 * 59! 235,000




